20124E & §£90m] Rl FEEYvh—)—4 (&) EWR

[ ®mss B = 3 =1 8 =0
L3RBT O YT > BREARRT
Mx BEX EmX HIX KXIXK ik =P N PN ) 5 TEX BB | B
& % & % & % = % = % = % = % = % .E.\H.—'.\%.E
=R = = = = = I = I = I = = I = = ™| o
[ @) (@) (@) O @) O
1 X 3 — 4 7 — 2 3 — 0 2 — 0 8 — 2 5 — 2 25 — 0 6|1]0([53[10] 43|18
(1 — 3)[C85 — 1)1 —0)lC0 —0)|C4 — 0)|C2 — 1)]c1n = 0)
@) O [ ) [ ) (@) (@) (@)
2 | BEX 4 — 3 7 — 2 1 — 3 1 - 2 8 — 0 6 — 3 1 — 0 5(2(0]41[13] 28 | 15
(3 — 1) (2 — 2)[C0 — 0)|C1T — o0)fC2 —0)|C2 — 2)|C8 — 0)
[ ) [ ) (@) (@) (@) O O
3| EmX 2 — 7 2 — 1 1 — 0 3 — 1 12 — 1 8 — 1 7 — 1 5/2|0([35[18[ 17|15
(1 — 5)[C2 — 2) (0 — 0| Ct1 —1)|c2 —1)|lc2 —0)|C2 — 0)
o O o @) A O O
4| EIXK 0 — 3 3 — 1 0 — 1 3 — 0 T = 1 4 — 1 N 412111117 4|13
(0 — 1)lco — o0)|co — 0) (1 —0)|Cc1 —o0o)|[C1 = 1) RS
[ O [ ) o @) @) @)
5| KIXK 0 — 2 2 — 1 1 - 3 0 — 3 2 — 1 3 — 2 3 — 0 413(011]12f-1]12
(0 — 0)[CO0 — 1)1 = 1)[C0 — 1) (1 —0)|C2 —o0)|[Co0o = 0)
([ ([ ([ A o O [
6| ERK 2 — 8 0 — 8 1 — 12 1 — 1 1 - 2 3 — 2 1 — 2 |1]5[1]9]35(-26| 4
(0 — 4)[Co0o — 2)C1 — 2)[C0 — 1)HY|C0 — 1) (1 — 2)]C1 = 1)
([ ([ ([ [ o [ O
T |RBRARSEE| 2 — 5 3 — 6 1 - 8 1 — 4 2 — 3 2 — 3 9 — 0 |[1[6[0]20|29| -9 3
(1 — 2)(C2 — 2)|C0 = 2)[C1 = 1)]C0 — 2)[C2 — 1) (5 — 0)
([ ([ ([ o o O [
8| HEKX 0 — 2 0 — 14 1 — 7 0 — 3 2 — 1 0 — 9 116[0]3]|59[-56| 3
(0 — 1)lco — 8)|lco — 2) ARES (0 — 0)|C1 — 1)y|[Cco = 5)

*( ) RIFEFO/R
KEHAEFIERDEEICL Y EHEGESN. EHASITATTBIZRE,
XEHFOH [MEX-ERK] OHGEARROFET., TRIX-HEKX] ORSGERZFOZETEYN, EHRASEIRE,
- THREX-ERX] OESEIN/TRRERKZICTHEF X YBR, RIX-HFEKRK] ORASEIHFEROASHEICLY RIS




